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def vecadd(A,B,C) {
N=length(A);
for (I=0; I<N; I++) {
C[I]=A[I]+B[I];

}

A=newvect (3,[1,2,3]);
B=newvect (3,[3,2,1]);

10 C=newvect (3);
- - T vecadd(A,B,C);
flnclude ?Stdlo.h> 12 printf("C=%a\n",C)$
int nsum(int N) { 13
int S; 14 def vecadd2(A,B) {
;EB.I; 15 N=length (A);
=V . . 16 C=newvect (N) ;
for (I=1; I<=N; I+ { 17 for (I=0; I<N; I++) {
- ’ 18 C[I]=A[I]+B[I];
printf ("Syingsnum=%d\n",S); ;z return C;
return S; 21}
int main() { 22 end$
int S,N;
S=3;
N=100; . d C d
printf ("S=%d\n",S); gdgd s 000ddd ged,COOO ged-r.c
gﬁgggngi}/‘ﬂ{éﬁ)gf‘_j\n N, nsum (1)) 5 1 #include <stdio.h>
} ° *ea 2 int gecd_r(int A,int B) {
3 int T;
4 int R;
5 if (B>A)
000 2: 0, asir 0 nsum.rr S }T=A; A= B; B=T;
def nsum(N) { : ?;A%g; 0) return B
=0 - 9 == 5
for’(I=1; I<=N; I+4) { 10 else return gcd_r(B,R);
S = s+I; u }
12
printf ("S,in,snum=%a\n",S); 13 /x Ax+By=D, A >= B 00000000000 */
return S; 14 /x DO00O00DO0O0ODOOOOODOOOOOOOODOOO
} z_syzCOODOOOODOODODOOOODOOO
S=3% 15 .
N=100% 16 */
printf ("S=%a\n",S)$ o .
printf ("nsum(%a)=%a\n",N,nsum(N))$ 18 int maln()n{
printf ("S=%a\n",S)$ 19 printf ("%d\n",gcd_r (128,24));
end$ 20
000 3: 000000,CO00 vecadd.c Oo00 6: 00000 ged, asir 0 ged-r.rr
#include <stdio.h> 1 def gcd_r(A,B) {
#define N 3 2 if (B>A) {
void vecadd(int A[N],int B[N],int CIN]) { 3 T = A; A = B; B=T;
int I; 4 }
for (I=0; I<KN; I++) { 5 R=A%B;
C[I]=A[I]+B[I]; 6 if (R==0) return B;
7 else return gcd_r(B,R);
s )
int main() { 9
int A[N] = {1,2,3}; 10 /* Ax+By=D, A >= B 00000000000 =%/
int BEN% = {3,2,1}; 11 def z_syz(A,B,D) {
int C[NJ]; 12 if (B==0) {
int i; 13 if (D % A != 0) return 0; // no
vecadd (A,B,C); solution
printf ("C="); 14 else return [D/A,0];
for (i=0; i<N; i++) printf("%d,",C[il); 15 }
printf ("\n"); 16 Q=idiv (A,B);
} 17 R=AY%B;
T S=z_syz(B,R,D);
19 if (S == 0) return O0;
. 20 return [S[1],S[0]1-Q*S[1]1];
000 4: 000000 asir 0 vecadd.rr a1}
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gcd_r (128,24) ;
z_syz (128,24,16) ;
z_syz (128,24,7);
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#include <stdio.h>
#include <math.h>
#include "glib5.h"
double CX;
double CY;
void lineto(double T,double R) {
extern double CX;
extern double CY;
double X;
double Y;
X=CX + Rx*cos(T);
Y=CY + R*sin(T);
glib_line (CX,CY,X,Y);
CX=X; CY=Y;
}
void moveto (double X,double Y) {
extern double CX;
extern double CY;
CX=X; CY=Y;
}

int ccurve2(double T,double R,int N) {

printf ("T=%1f, R=%1f, N=%d\n",T,R,N);

if (N<2) {
lineto(T,R); return(0);

ccurve2 (T+3.1415/4,R/sqrt (2) ,N-1);

ccurve2(T-3.1415/4,R/sqrt (2) ,N-1);

return O0;

int main() {
glib_open();
glib_loop () ;

void glib_draw() {
glib_window(-10,-10,15,15);
glib_clear ();
glib_color (NULL ,0x£f£0000) ;
moveto (0,0);
ccurve2(0,10,9) ;;
glib_flush();
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import("glib3.rr")$
extern CX$
extern CY$
def lineto(T,R) {
extern CX;
extern CY;
X=deval (CX + Rx*cos(T));
Y=deval (CY + R*sin(T));
glib_line (CX,CY,X,Y);
CX=X; CY=Y;
}
def moveto(X,Y) {
extern CX;
extern CY;
CX=X; CY=Y;
}
def ccurve2(T,R,N) {
print ([T,R,N]);
if (N<2) {
lineto(T,R); return(O0);
}
ccurve2 (T+@pi/4,R/2°(1/2) ,N-1);
ccurve2(T-@pi/4,R/2°(1/2) ,N-1);

}
def main(N) {
glib_window (-10,-10,15,15);
glib_clear ();
moveto (0,0) ;
ccurve2(0,10,N);
glib_flush();

end$
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